Consider the following algorithm.

ALGORITHM  Mysteryin)
/lnput: A nonnegative integer n
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How many times is the basic operation executed? N

What is its basic operation?

. Whatis the cfficiency class of this algorithm?

. Suggest an improvement, ora better algorithm altogether, and indicate its
efficiency class. If vou cannot do it. tryv to prove that. in fact. it cannot be

done. - .
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Consider the following algorithm.

¥ ALGORITHM  Secret(A[0.n = 1])
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Answer questions (a)—(¢) of Problem 4 about this af%n‘rithm.
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Consider the following algorithm.

ALGORITHM Enigma(A|0.n — 1. 0.n = 1])
fMnput: A matrix A[O.n = 1, U“S—_‘L_ I] of real numbers
fori < Oton-2do —— 2 ‘
for j «~ i+ 1ton — ldo ,_;_’,i Q,:_‘
it Ali. ]2 Al ]
return false
return true

Answer questions (a)—{¢) of Problem 4 about this algorithm.
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. Consider the following version of an.important algorithm that we will study
later in the book.

ALGORITHM  GE(A[0.n — 1. 0.n])
Hnput: Ann x (n+ 1) matrix A[O.n — 1. O..n] of real numbers
fori <« Oton —2do
for j <~ i+ 1ton—1do

fork < i ton do

AL K] < AL K= Ali. K] ALj. 1]/ Ali. i] —) as¢ oyera hon

— N Siw 5 % . i ik 7 Z o { () 2
a. Find the time efficiency class of this algorithm. — Lsp \?\» f u\C\\'\q@“ “'\“ﬂ\fup ©
b. What glaring inefficicney does this pseudocode contain and how can it be )
climinated to speed the algorithm up? e
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Foreach of the following pairs of functions, indicate whether the first function
of each of the following pairs has a lower, same, or higher order of growth (to
within a constant multiple) than the second lummm
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* Tentukan apakah pernyataan berikut benar atau salah
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